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These problems ask you to work with the Kaluza-Klein theory with an ansatz for part of the
four-dimensional metric. You are not asked to show it is physically consistient to set this part of
metric equal to the Minkowski metric and, in fact, this can only actually be done approximately.

1. (4) Work out the geodesic equations for Kaluza-Klein theory with g̃µν ≈ ηµν where

ds2 = φ(dx5 + Aµdxµ)2 + g̃µνdxµdxν (1)

2. (4) Work out the vacuum Einstein equations for this case.

1Conor Houghton, houghton@maths.tcd.ie, see also http://www.maths.tcd.ie/~houghton/442.html
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